volume
Usage

create vol ume
create vol une

[ I abel =] <vol name> di sk=<devi ce> [ si ze=<si ze>[ kKnWgG T] ]
[ 1 abel =] <vol nanme> vg=<vg- nane>| snapshot of =<vol nane>

di sk=<devi ce>si ze=<si ze>[ KKmM\Wg& T] [ opti ons=<I vopt s>]

create vol une
create vol une
create vol unme
del ete vol une

[ I abel =] <t hi npool name> t hi npool =1 vg=<vg- nane> si ze=<si ze>[ kKmM\gQ& T]
[1 abel =] <vol nane> t hi npool =<t hi npool name> si ze=<si ze>[ kKKmMMgQG T]

[ I abel =] <vol nane> fil esys=xfs| ext4| zfs pat hname=<fs-pat h> [ di sk=<di sk- name>]

[ 1 abel =] <vol nane>

set vol une <vol nane> [si ze| capaci ty=<si ze>[ kkKnWgG T] ]
[ readAheadEnabl ed=bool ean] [readAheadMil ti =i nteger-val]
[ readCacheEnabl ed=bool ean] [writeCacheEnabl ed=bool ean]
[ cacheFl ushDel ay=i nt eger] [varyi oEnabl ed=bool ean]
[readOnl y| writeProtect=bool ean]

show vol unme [[label =] [user-1abel]]

Examples

mayacli create volunme testvol disk=/dev/sda

mayacl i create volune testvol vg=vgtest size=200G

mayacl i create vol une snap_test snapshot of =t estvol size=20G
mayacl i create vol une vnpool _thin thinpool =1 vg=vgtest size=200G
mayacl i create volune vndi sk_t hin thinpool =vnpool size=1T

mayacli create volume exportl fil esys=xfs pathname=/vaul t/projects options=""*(rw sync)""

Output

mayacli show vol

Conf i gured Vol unes:
Type: id = Individual Disk, bd = Block Device, flex = Flexible Volung,
snap = Snapshot Volune, rg = Raid Goup, vg = Volunme G oup,

tape = Virtual Tape Vol unme, vtape

Virtual Tape Drive,

vtl = Virtual Tape Library, crypt = Block |level encrypted vol une
Vol unme Type Si ze Devi ce
r hel vg 9. 00G /dev/rhel
testvgl vg 223.57G / dev/testvgl
test _t hi npool thinp 100. 00G / dev/testvgl/ test _t hi npool
t hi nvol 1 flex 15. 00G / dev/testvgl/ thinvol 1
t hi nvol 2 flex 20. 00G / dev/ testvgl/thinvol 2
t hi ckvol 1 flex 50. 00G / dev/testvgl/thickvol 1
t hi nvol 3 flex 20. 00G / dev/ testvgl/thinvol 3
testzpool 1 zpool 222.00G / dev/ testzpool 1
zvol 1 flex 10. 00G / dev/ test zpool 1/ zvol 1
zvol 2 flex 100. 00G / dev/ t est zpool 1/ zvol 2

nvievol 1

bl ock 953. 87G / dev/ nvnme0Onl

[ zp=<pool - nane>]
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